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£ B (24-31)
FIRE 5 % il
SRIREIC 1 4
(FEREA) CREE3C 20 4
CHEEIL 3> l:')L\"C(st\ B EAREIZFEL 4
< Question 1> 4
(FEREB)
< Question 2 > 4
(F13 7 4
(2] () (4)(x)y (o) (7) 4
(3] 2 4
(4] orchards 4
(5] % 4
(F6) [#1]  are there any shonyudos in Australia? 6
(7] ten thousand 4
(8] natural heritages 4
(9] T py 9 2X3=6
(f51) T 4
(M2) |@a =x @b 4 @ 7 @2-d 4
(3] A 4
(4] v 4
(5] 1 4
(A 6) Japan 4
[#11]  you must bring a cake
(7] 4
[(#12]  you must remember to bring a cake
(8] |(8-a been (8)b gave (8)-c knew (8)-d played 1 X 4=4
(o) | 7 2 2% 2=4
(f#10] v 7+ 2% 2=4




